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#1. Use the 1ntegral deﬁn1t1on of the Laplace ”\

Transform to find ,7{ ()} R
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#2 Use the integral definition of the Laplace

Transform to find .& {f ( )}
t, o<t<l

f(lf)'={15\ b
f@[{f) f > M»{wf P f.A

T
ey _,ZJ e S,ff oA
d 2 e A

— }fﬂ s I i fé‘”;'”
i e ElTET

Lk s
iu/a(% v 5«'1'.’

lw« IV Ju s
"""" _L{, *)*m; ; );5‘ P }a
A 57
(5 g "‘ 925 N




#3. Use the integral definition of the Laplace
Transform to find & {f (£)} . Then use the table

—~, to verify your answer.
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#4. Use the integral definition of the Laplace
Transform to find & { f (f)} . Then use the table :
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#5. Use theorems and the table to find & { f (t)} '
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#6. Use theorems and vthe table to find
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#11. Use theoréms and the table to find S—, 1B= 8,945
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#14. Use theorems and the table to find
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,v\ #1. Usethe "Lap{lace transform to solve the initial-
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#2. Use the Laplace transform to solve the initial-
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/ se the Laplace transform to solve the initial-
- e problem: ) :
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#6. Use the Laplace transform to solve the initial-
value problem:
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/™ #1. Evaluate the Laplace transform to find F'(s) #4. Evaluate the Laplace transform to find F (s)
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#6. Evaluate the Inverse Laplace transform to find #9. Evaluate the Inverse Laplace transform to find
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#11. Use the Laplace transform to solve the initial-
value problem
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7.3 day 2

. Fot #1-6, the function f (t) is given by the graph:

Given the graph of a modified version of this
function, use a combination of terms with the
original function, time shifted original function and
the unit step function to write a new function that
produces the function in the problem’s graph.
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~~ #1. Evaluate the Laplace transform to find F( )
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#7. Write the function in terms of unit step
functions, then find the Laplace transform of the
given function:
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#8. Write the function in terms of unit step

functions, then find the Laplace transform of the
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#9. Write the function in terms of unit step
functions, then find the Laplace transform of the
given function:
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#10. Use the Laplace transform to solve the initial-
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#11. Use the Laplace transform to solve the initial-
value problem:

Y'+2y=f(t), »(0)=0
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#12. Use the Laﬁlace transform to solve the initial-
value problem:
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#13. Use the Laplace transform to solve the initial-
value problem:

Y'+y=r(t), »(0)=0, y(0)=1
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/\ #1. Evaluate the Laplace transform to find F (s) #2. Evaluate the Laplace transform to find F (s)
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- #5. Use the Laplace transform to solve the initial-
.. value problem: -
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#6. Use the Laplace transform to solve the initial-
value problem:
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. #1. Use the Laplace transform to solve the initial-
3\ .

value problem:
y'=3y=6(t-2),
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#3. Use the Laplace transform to solve the initial-
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- #2. Use the Laplace transform to solve the initial-
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#4. Use the Laplace transform to solve the initial-

value problem:
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o “#1. Use theorems and the table to find & { f (1‘)}
. f(t)=2f4 o

| #2 Use théoréms and the table to find & {f (f )}
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- #6. Use the Laplace transform to solve the initial-
-+ value problem
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#7. Use the Laplace transform to solve the initial-
" value problem:
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#8. Evaluate the Inverse Laplace transform to find
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- #12. Use the Laplace transform to solve the initial-
- value problem

d’“ ' —6y'+9y=t, y(0)=0, y'(0)=1 o
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" #15. Write the function in terms of unit step

M

functions, then find the Laplace transform of the
given function:
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" #16. Write the function in terms of unit step
- functions, then find the Laplace transform of the
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given function:
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#17. Evaluate the Laplace transform to find F (s)
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#18. Evaluate the Laplace transform to find F (s)
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"~ #19. Evaluate the Laplace transform to find F (s)
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#20. Use the Laplace transform to solve the initial-
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Y -2y +y=e', y(0)=0, y(0)=5
521055 sl 9] 2[5 1>-904) +10sy =1 123
MU 5= =T vzsm}wi@wrﬁ% ;5‘”

i
[57-254) 1D = 5+ 51 e
-~
T (O 5*5;? *{i s F2 s
' "A—__‘ .
,:bsf w?f P””"’““;ﬁ s » e_fg_.,m@fxszi:‘;ﬁm ; §
c " bl . afe " g" %
('E af """—_TI = @
31%) gﬂi ’;;(;33 = Hé) [« ) %W L fm}”‘f@ i {6 Z ”;
B _ («L,f) Yep !
7 | i
-5t %"5“'55,%% stet A IEND

jjﬁLff% grul




